Lunds BK

BBO Skane Lund 2021-12-06

Partavling, 7 bord, 14 par. Antal brickor: 22. Medel: 132.0.

Plac Par Poéang % Namn MID Klubb
1 1 170.4 64.56 Ingemar Dahlstrand - Torgil Ekman 569 84079 Lunds BK
2 4 158.5 60.03 Anders Christoffersson - Elsy Jakobsson 68941 92478 Lunds BK
3 6 1445 54.74 Hans Wilhelmsson - Rickard Olsson 200060" 29718 Bjarreds BK
4 3 1422  53.88 Anita Gullberg - Wlodek Tugendraich 13513 82831 Lunds BK
5 8 142.2  53.88 Magnus Wahlstrom - Karin Wahlstrom 86448 62793 Bjarreds BK
6 11 137.5 52.1 Bjorn Thorvinger - Maria Jeppsson 68933 68934 Lunds BK
7 2 132.9 50.33 Magnus Lindkvist - Lars Nilsson 1831 43950 BK S:tErik
8 5 127.9  48.45 Bengt Nilsson - Peter Gati 5797 11054 Malmd BK
9 7 126.7 47.99 Mia Breding - Bo Jonsson 87116 47392  Storsjobygdens BK
10 9 1244  47.11  Martti Niileksela - lwe Persson 63033 92201 Lunds BK - Ystads BS
11 14 120.2  45.54  Christer Wickstrém - Birgitta Akerstedt 61089 59645 Orebridgen
12 10 115.9 43.89 Dag Kaéllfelt - Bo Nilsson 26561 28643 BK Everfresh - Askims BK
13 12 106.8 40.45 Sven-Ake Fadmyr - Thorbjérn Haraldsson 90988 36089 Lunds BK
14 13 97.9 37.08 Maud Kylinger - Eva Wilander 31298 87253 Filbyter Bridge - Ljungsbro BK
1 4 D10983 Basta kontrakt 2 4 DKn Basta kontrakt 3 # 10632 Basta kontrakt
Nord v 654 4¢ OD-1100 Ost vE64 3v O =-140 Syd v Kn1062 3NT O =-600
Ingen +D NS 49874 ov ¢+ Kn
#10986 & ¢ v & NT #Kn532 & ¢ v & NT #EK75 & ¢ v & NT
.- 47652 N54598 4 K94 4~ E63 N6 9 487 4 K8 4 E75 N52 46 3
v EKn8 vKD93 S545 938 vKn9752 v D1083 S6 9487 v EK73 v94 S52 46 3
¢ Kn965 ¢ K1083 079745 + K 4 1062 07 4955 ¢+ E10976 ¢ K8543 07 119 7 9
#Kn75432 &D V79745 »E984 +K106 V74955 108 +D62 V7119 7 9
# EKKn4 4108752 « DKn94
v 1072 vK v D85
¢ E742 ¢ EDKn53 + D2
*EK «D7 #Kn943
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
1 10 34 N= *Q 140 120 0.0| 2 12 4¢ S= v2 130 110 10| 8 12 2¢v O+1 4Q -140 12.0 0.0
2 12 2NS= 3 120 90 3.0| 5 11 2¢ S+2 v5 130 11.0 10| 1 13 INO+2 4Q -150 70 5.0
8 6 2NS= *4 120 90 30| 4 7 2¢ S= v7 90 80 40| 2 3 3¢ V+2 #A -150 70 5.0
4 7 44 N-1 *Q -50 40 80| 1 10 3vV-1 4Q 50 6.0 6.0 4 11 2¢ V+3 &A -150 70 50
5 11 44 N-1 *Q -50 40 80| 8 6 2vV+1l 4Q -140 3.0 9.0| 5 14 2¢ V+3 #A -150 70 5.0
9 13 44 N-1 *Q -50 40 80| 9 13 3vV= 4Q -140 30 90| 9 7 3NO+2 &3 -660 1.0 11.0
14 3 2NS-2 *2 -100 0.0 12014 3 2vV+2 4Q -170 0.0 12.0|10 6 3NV+2 #A -660 1.0 11.0
4 46 Bésta kontrakt 5 210 Bésta kontrakt 6 a7 Bésta kontrakt
Vast v K7 4y O =-620 Nord vKn 4¢ S =130 Ost v K8652 7v S D -4-800
Alla + Kn1073 NS + E108763 ov +82
#KKn8754 & ¢ v & NT #KKn964 & ¢ v & NT #K9863 & ¢ v & NT
4 ED952 4Knl0 N6 4234 442  EKn953 N 9 105 6 7 4 KD109865 & EKn3 N71911
v 843 vDKn1052 S 6 4 2 3 4 v8762 vKD954 S 9 105 6 7 vD vE74 S71911
¢EK95 +42 07 9 109 9 ¢KD5 ¢4 0338514 ¢ Kn54 ¢+ ED107 O 5 104 1110
#10 #ED93 vV 7 9 109 9 #E1075 %82 V438514 «D5 *E42 vV 5 114 1210
4 K8743 4 KD876 442
vE96 vE103 v Kn1093
+ D86 + Kn92 + K963
*62 «D3 #Kn107
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
2 3 4eV-1 «5 100 11.0 10| 9 11 3NS+1 44 630 120 00| 1 6 44 0O0+1 vJ -650 12.0 0.0
8 12 4v O-1 *2 100 11.0 10| 1 6 34DO-3 +¢J 500 100 20| 4 14 44 V+2 &8 -680 6.0 6.0
113 3v 0= *6 -140 6.0 6.0| 4 14 4¢ N= vK 130 80 40| 8 3 44V+2 ¢8 -680 6.0 6.0
9 7 2v0+1 &6 -140 6.0 60| 2 5 4v0-2 vA 100 50 7.0| 9 11 44 V+2 ¢8 -680 6.0 6.0
10 6 3vO= +6 -140 6.0 60| 8 3 4v0O-2 2 100 50 7.0|10 12 4e V+2 v2 -680 6.0 6.0
5 14 3NO+1 &6 -630 2.0 10.0|10 12 4¢ N-1 8 -100 20 100|113 7 44 O+2 vJ -680 6.0 6.0
4 11 3NO+2 +4 -660 0.0 120|13 7 3vO= oK -140 0.0 120| 2 5 64 V= +8 -1430 0.0 12.0
7 « ED8762 Basta kontrakt 8 «D3 Basta kontrakt 9 4976 Basta kontrakt
Syd v 103 1a S +2 140 Vast v EKKn2 4% O D -2 300 Nord v 10953 INT S +1120
Alla + KD10 Ingen + Kn9862 ov + D109
»K10 & ¢ v & NT *32 & ¢ v & NT #1094 & ¢ v & NT
4943  aKKn N8 7697 4«10 » EK9864 N58955 4 E82 410543 N8 7767
v864 vED975 S876 97 v 1098 v D6 S5896 9 vDKn76 v384 S87 778
¢ E963 ¢ Kn84 O466 44 ¢+ E104 4753 08 446 4 ¢+Kn54 ¢ E632 O56 6 6 5
#EKn2 #4543 V56744 #KKn9874 #106 V84464 *EK6 #852 V56665
4105 4 Kn752 & KDKn
v KKn2 v 7543 v EK2
¢ 752 + KD + K87
#D9876 #ED5 #DKn73
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 7 3v0-3 T 300 120 00| 1 7 4vy N= a A 420 120 00| 7 11 3NS= v6 400 12.0 0.0
6 12 3¢ V-2 vT 200 8.0 40| 9 14 3vy N+1 4A 170 100 20| 6 3 2NV-2 &T 200 9.0 3.0
9 14 3v0O-2 aT 200 80 40| 4 2 340-3 +K 150 80 40| 9 2 INV-2 &T 200 9.0 3.0
10 3 3v0O-2 T 200 80 40| 6 12 24 O-1 + K 50 60 6.0| 8 4 2NS= v6 120 6.0 6.0
8 5 34 N= &5 140 40 80|10 3 3vS-1 aT -50 30 90| 1 12 240-1 vK 100 40 8.0
13 11 24 N= v7 110 2.0 10.0|13 11 3v N-1 aK -50 30 90|10 5 24S-1 SA -50 1.0 11.0
4 2 1a N= &3 80 0.0 120| 8 5 4vy N-3 4 A -150 0.0 12.0|13 14 2v N-1 2 -50 1.0 11.0
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10 4 D976 Basta kontrakt 11 4 Kn5 Basta kontrakt 12 4 D873 Basta kontrakt
Ost v EKn9 44 V =-620 Syd v E954 2NT S =120 Vast v42 4v O =-420
Alla + 872 Ingen + 96 NS + Kn8762
#1043 & ¢ v & NT #ED1072 & ¢ v & NT »K8 & ¢ v & NT
4 K105 4 EKn432 N545 34 463 « D1097 N9 6 7 88 « E96 410542 N8 6 343
v D62 v K53 S54534 v 102 vKD876 S96 7 88 v1087 <vEKKn965 S 8 6 3 4 3
¢ E1065 ¢ Kn9 0888909 ¢+ EKn10752 ¢ 83 0476565 +10954 ¢ E3 O5 7 109 9
#985 #EKKn vV 8 8 8 109 +Kn84 #K9 V476055 *E64 »2 vV 57 109 9
48 & EK842 & KKn
v 10874 v Kn3 vD3
+ KD43 + KD4 + KD
*D762 #653 #DKn109753
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
1 12 44 O-2 v7 200 120 00| 9 8 3NN= v6 400 120 00| 6 5 4v0O-1 L o) 50 11.0 1.0
10 5 440-1 +4 100 90 30| 1 11 34 S= LY 140 100 20|12 3 4v0O-1 *Q 50 11.0 1.0
13 14 3NO-1 v4 100 9.0 30| 7 14 2&4N+2 ¢K 130 80 40| 9 8 3vO= *Q -140 70 5.0
7 11 INV+1 &T -120 60 60|13 2 3¢ V-1 aJ 50 6.0 6.0|/13 2 3vO= L o) -140 70 50
6 3 340+l K -170 40 80| 6 5 34S-1 43 -50 20 10.0| 7 14 3vy O+1 #Q -170 4.0 8.0
8 4 3NO= +4 -600 20 100|10 4 24 S-1 vT -50 20 100|10 4 2vO+3 +¢K -200 2.0 10.0
9 2 3NO+1 3 -630 0.0 12012 3 34 S-1 vT -50 20 100| 1 11 4v O= *Q -420 0.0 12.0
13 & EKKN10962 Bésta kontrakt 14 & KKn10 Bésta kontrakt 15 4 D742 Bésta kontrakt
Nord va 5v VD -1200 Ost v KKn 3NT S =400 Syd v 96 4v O +1-450
Alla + DKn1095 Ingen + KDKn9 NS + K63
»- & ¢ v & NT #10753 & ¢ v & NT *K643 & ¢ v & NT
a5 « D873 N 3 102 103 4ED74 49632 N9 109 7 9 4963 ~Kn N53276
vED985 ¢1076 S 3 103 103 v 82 v E1097 S 9 109 7 9 vEK873 v DKnl105 S53276
¢+ 64 ¢E72 093937 410653 ¢ 842 03346 3 ¢ E54 ¢ DKn82 08 9 116 7
#E10974 #DKn5 vV 9 3 103 7 #Kn86 #E4 V33463 #E8 #DKn105 vV 8 9 116 7
a4 485 » EK1085
v KKn32 v D6543 v42
+ K83 ¢ E7 41097
#K8632 #KD92 #972
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 3 44 N= v6 620 90 30| 1 3 3NN= a2 400 11.0 10| 1 14 4v V= v9 -420 10.0 20
7 2 44 N= *Q 620 90 30|12 5 3NN= v7 400 11.0 10| 6 9 4v V= v6 -420 100 2.0
10 9 44 N= v6 620 9.0 3.0[10 9 2NN+1 49 150 80 40| 7 8 4v V= a4 -420 100 2.0
11 14 44 N= *Q 620 90 30| 7 2 3NN-1 43 -50 40 80| 3 5 4vV+l v9 -450 3.0 9.0
6 4 34N+l #Q 170 20 10011 14 2¢ N-1 a2 -50 40 80|11 2 4vV+l &2 -450 3.0 9.0
12 5 24 N+2 v6 170 20 100|13 8 3NN-1 v9 -50 40 8012 4 4v V+l 42 -450 3.0 9.0
13 8 24 N+2 v6 170 20 100| 6 4 4vS-2 &6 -100 0.0 12.0|13 10 4y V+1 44 -450 3.0 9.0
16 & DKn84 Basta kontrakt 17 453 Basta kontrakt 18 48 Basta kontrakt
Vast v93 INT O =-90 Nord v Kn5 3v OD-1100 Ost v Kn7652 44 O =-420
oV + 1065 Ingen + E108632 NS + ED8
#D653 & ¢ v & NT #Kn103 & ¢ v & NT #Kn632 & ¢ v & NT
4 K10962 4 E3 N6 7 7 66 «ED4 4 KKn109 N59567 » K107 « ED952 N4 46 34
v54 v Kn872 S6 7766 v9872 vD1043 S59567 vK1043 vD S 44634
¢ KKn98 ¢ D2 076677 +75 +94 07 4875 ¢ Kn ¢ K9642 09 8 7 109
»87 #KKn1l094 V 6 6 6 7 6 #K764 #E95 V74875 #ED1087 #54 vV 9 8 7 109
475 48762 & Kn643
v EKD106 v EK6 vE98
¢ E743 ¢ KDKn + 10753
*E2 +D82 *K9
Par Kontr Ut Res Poéng Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 2 1a V-1 v3 100 120 00| 3 4 INS+3 &4 180 120 00| 7 10 44 O-1 +5 50 12.0 0.0
6 9 2¢ S= &8 90 100 20| 1 5 INS+1 v9 120 80 40| 3 4 2NO+1 3 -150 10.0 2.0
3 5 2vS-1 8 -50 80 40| 6 13 INS+1 v2 120 80 40| 1 5 440= *7 -420 50 7.0
1 14 2¢vS-2 &8 -100 30 90| 7 10 INS+1 v9 120 80 40| 6 13 44 O= *T -420 50 7.0
7 8 2¢vS-2 &7 -100 30 90|14 2 3¢ N= T 110 40 80|11 8 44 0= +5 -420 50 7.0
12 4 2v S-2 &8 -100 30 90|12 9 3vV-l ¢ A 50 20 10012 9 44 0O= v8 -420 50 7.0
13 10 2v S-2 49 -100 30 90|11 8 2vS-1 *7 -50 0.0 12014 2 44 O+1 v8 -450 0.0 12.0
19 » EK64 Bésta kontrakt 20 & KKn7543 Bésta kontrakt 21 & EKn965 Bésta kontrakt
Syd vE107 INT S =1520 Vast v EKn532 6¢ O D -2500 Nord vK4 5v O D -3500
oV * K7 Alla .- NS + KKn1087
#KD106 & ¢ v & NT +Kn9 & ¢ v & NT »5 & ¢ v & NT
«D9753 #1082 N 1311131013 49 «D10 N1 1 11111 « KD8 442 N5 9 5 108
v94 v Kn65 S 1311131013 v 87 v 104 S1111111 v E87 vDKn1052 S 5 9 5 108
¢ Kn854 ¢ D93 002030 ¢+ ED62 ¢ KKn10853 O 8 100 1 2 ¢ E32 465 08 3835
+Kn4 #7532 V02030 #EKD752 #864 vV 8 100 1 2 #D1073 #Kn842 V83835
& Kn » E862 1073
v KD832 v KD96 v 963
+ E1062 ¢+ 974 + D94
#E98 103 #EK96
Par Kontr ut Res Poang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
1 2 6vyS+1 #J 1010 80 40| 3 9 54 N= &4 650 90 30|12 7 34aDN+1 +6 930 12.0 0.0
3 9 6vyS+l #J 1010 8.0 40|11 10 44 N+1 #4 650 90 30| 5 9 44DN= ¢6 790 100 2.0
5 4 6vS+1 #J 1010 80 40|12 13 44 N+1 4 650 90 30| 2 8 44 N-= vQ 620 8.0 4.0
7 6 6vyS+l &J 1010 80 40|14 8 44 N+l &4 650 9.0 30| 3 13 4vDO-2 &A 300 6.0 6.0
14 8 6vyS+1 ¢5 1010 80 40| 1 2 34aN+2 &4 200 30 90| 1 4 34N+1 vQ 170 3.0 9.0
12 13 4v S+3 43 510 20 100| 7 6 54DV-1 &7 200 30 90|11 6 24 N+2 42 170 3.0 9.0
11 10 3NN+3 &2 490 00 120 5 4 5¢0-1 vK 100 0.0 12.0|14 10 34 N= vQ 140 0.0 12.0
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22 « EKn965
Ost vD109
ov +D63
283
aK10 D7
v743  v652

¢ E1092 ¢ KKn87
&#E1096 #K742
8432
v EKKn8
54
&DKn5

Par Kontr Ut

1 4 24 N+1 +8
3 13 24 N+1 +8
12 7 24 N+1 v2

11 6 INN-1 *7
5 9 44 N-2 &4

Basta kontrakt
24 S =110

& ¢ v & NT
N55 8 86
S55886
088557
V88557
Res Poang
140 100 2.0
140 10.0 2.0
140 10.0 2.0
50 7.0
50 7.0
-50 2.0 10.0
-100 0.0 12.0
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